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char* D190 MAWYNA str.int HON DANYN i, j .C NOWA NPINN WOPN 190N TI8T

JOPN DYD2 V9O NN NI PIND DIV Y DXDYOND THX 531 .(P2901 TIIND)

strepy(str, “ABCD”);
*(++str)="\0";
--str;

cout<<str<<endl;

1=2

for(i=5; i<100; i=1*2 + 1){
cout<<i%j<<’ ¢
=5

}

cout<<endl;

strepy(str, “ABCD”);
1=str[3]-str[1];

cout << (str+i) << endl;
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class SortedArray {
int *arr;
int s;
void sort();
public: _
void SortedArray(int *array, int size);
void print()const;
void DeleteDoubles();
5

void print() const {
for (int i=0; i<s; ++1)
cout<<arr[i]<<” ¢,

cout<<endl,

void main(){
int arr[]={-7, -4,-1,2,2,3,4,9 };
SortedArray a(arr,8);
a.print();
a.DeleteDouble();
a.print();
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a_top="1°, b_top="1", WX NV 11 NN N MNI NN v (MTps 5) (3
IMRNNN NWHYH Nn c_top="1"

LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
PACKAGE ha pkg IS
COMPONENT ha
PORT( a, b: IN STD_LOGIC;
sum, cout : OUT STD_LOGIC);
END COMPONENT;
END ha_pkg;
LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;

ENTITY ha IS
PORT( a, b :IN STD_LOGIC;

sum, cout :0UT STD_LOGIC) ;
END ha;
ARCHITECTURE ha OF ha IS
BEGIN
sum <= a XOR b;
cout<= a AND b;
END ha;

LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
ENTITY Fa IS
PORT( a_top, b_top, c_top :IN STD_LOGIC;
sum_top, cout_top :OUT STD_LOGIC) ;
END Fa;
ARCHITECTURE struct OF Fa IS
COMPONENT ha
PORT( a, b: IN STD_LOGIC;
sum, cout : OUT STD_LOGIC);
END COMPONENT;
SIGNAL suml _to_a, carl_to_or, car2_to_or: STD_LOGIC;
BEGIN
boxl: ha port map
(a=>a_top,b=>b_top,sum=>suml_to_a,cout=>carl_to_or);
box2: ha port map
(a=>suml_to_a,b=>c_top, sum=>sum_top, cout=>car2_to_or);
cout_top <= carl_to_or OR car2_to_or;
END;
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library ieee;
use ieee.STD_LOGIC_1l164.all;
use ieee.STD_LOGIC_ARITH.all;
use ieee.STD_LOGIC_UNSIGNED.all;
entity div is
generic (size: NATURAL:= 4);
port (clk: in BIT; rst: in BIT;
input: in std logic_vector(size-1 downto 0);
div_by: out std_logic);

end div;
architecture div of div is
signal count: std_logic_vector(size-1 downto 0);

begin
process (rst, clk)
begin
if rst = '1' then
count<= input;
div_by<='1"';
elsif clk'event and clk = '1' then
if count = 1 then
count<=input;
div_by<='0"';
else
if count > SHR(input,"01")-1 then
div_by<='0";
else
div_by<='1"';
end if;
count<=count-1;
end if:
end if;
end process;
end;
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ENTITY test7 IS
PORT (rst, clk: OUT bit;
din: OUT bit;
otp: IN bit);
END;
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library ieee;

use leee.STD_LOGIC_1164.all;

use ieee.STD_LOGIC_ARITH.all;
use ieee.STD LOGIC_UNSIGNED.all;

package pack8 is

procedure MySHR(Signal vec: inout std_logic_vector);
end;
package body pack8 is

end;
YRNVYNY T2 9800 PYNNnY NMOLPLIIIN POINY W nyd (MMpy 5) (2
STaYN NYID MIDNNY APINKD TOY,NIANOY NNTNIN2
LIBRARY IEEE;
USE IEEE.STD LOGIC_1164.ALL;
USE IEEE.STD LOGIC_ARITH.ALL;
USE IEEE.STD_LOGIC_UNSIGNED.ALL;
use work.pack8.all;

ENTITY test8B_process IS

generic(n: integer:= 4);

PORT (inp: INOUT STD_LOGIC_vector (n-1 downto 0);
END;
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LIBRARY IEEE;
USE IEEE.STD_LOGIC_1164.ALL;
USE IEEE.STD_LOGIC_ARITH.ALL;
USE IEEE.STD_LOGIC_UNSIGNED.ALL;
ENTITY test09A What IS
PORT (clk, rst, inp: IN STD LOGIC;
otp: OUT std_logic);
END; ‘

ARCHITECTURE arc OF testOSA What IS
SIGNAL a, b: std_logic;

BEGIN
otp<= a WHEN inp='0' ELSE
b;
process (clk, rst)
begin

if rst= '1' then
a<= '1'; bc= '0';
elsif rising_edge(clk) then
a<=inp; b<= a;
end if;
end process;
end;

: 1 TPINNN INNAY NIIND DX PN v (MNP 10) (2

LIBRARY IEEE;
USE IEEE.STD LOGIC_1164.ALL;
USE IEEE.STD_LOGIC_ARITH.ALL;
USE IEEE.STD_LOGIC_UNSIGNED.ALL;
ENTITY test09B What IS
PORT (clk, inpl, inp2: IN STD_LOGIC;
otp: OUT std_logic);
END;
ARCHITECTURE arc OF test09B_What IS
SIGNAL a, b: std_logic;
BEGIN
process (clk)
begin
if rising edge(clk) then
a<= inp2; otp<= b;
end if;
end process;
b<= inp2 WHEN inpl= '1l' ELSE
a;
end;
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